A8231:15 06/23

700 Series ET, 773,774,778

Item Part No. Description Qty Sellable
1 97-0853 Electric ET Case W/O Cylinder Prep' 1 No
2 97-0477 Bushing Insert 1 Yes
3 97-0760 Cap Nut 1 Yes
4 — Lever Handle'? 1 Yes
5 68-7546 Motor Actuator Assemby 1 Yes
6 97-0528 Hub Plate (STD) 1 Yes
7 01-1182 Cr-Chms #10-32 X 19/64" 1 Yes
8 97-0852 Retainer Plate, Electrical Function 1 Yes
9 01-4410 #4-40 X 1/4" Ph Flat Head Machine Screw 2 Yes
10 01-4383 #2-56 X 5/8" Ph Pan Head Machine Screw 2 Yes
11 01-4507 1/8 x 1/2 Double Ended Groove Pin 2 No
12 97-0425 Hub Spring (STD) 1 Yes
97-0549 Spindle (1-3/4" Door) 1

13 97-0550 Spindle (2" Door) 1 Yes
97-0551 Spindle (2-1/4" Door) 1

52-5660 Ecoflex Et Harness F.Safe[F.Secure 1 Yes

52-5659 Ecoflex ET Harness H1, H2, M1 1 Yes

52-5654 Ecoflex ET Harness KP, G1.5, 1 Yes

14 52-5657 Ecoflex ET Harness P1, P2, IN120, IN220 1 Yes

52-5655 Ecoflex ET Harness S Series 1 Yes

52-5656 Ecoflex ET Harness PG 1 Yes

52-5658 Ecoflex ET Harness N2 1 Yes

52-5652 Ecoflex ET Harness IN100 1 Yes

01-4451 Thru Bolt #1/4-20 X 2 3/8" (1 3/4" Door) 2 Yes

sr,:looxfm 01-4372 Thru Bolt #1/4-20 X 2 5/8" (2" Door) 2 Yes

01-4373 Thru Bolt #1/4-20 X 2 7/8" (2 1/4" Door) 2 Yes

1. Specify finish

2. Specify lever design by hand

136

y:

The warranty on SARGENT® products becomes void if the product is modified in any way, regardless of whether the modification
causes or contributes to any alleged defect. If a SARGENT product is modified it may no longer meet industry certification and
quality control standards applicable to the original product and is no longer a genuine SARGENT product.

Copyright © 2017-2023, SARGENT Manufacturing Company. All rights reserved. Reproduction in whole or in part without
the express written permission of SARGENT Manufacturing Company is prohibited.

SARGENT
ASSA ABLOY

Experience a safer
and more open world



